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113 B4 5 2 BHREHE 1T MV 252(B) 1285 100 = 391 | 26
113 255 2 BHRELE YoR1T MV 2155 (A) 1285 100 = 3Pt | 27
113 255 2 BHREAE R1T MV #55(0) 1925 100| 7 = 391 | 28
113 22558 2 BHRREE (L E | PIBR(A) 1800 200| = 431 |1
113 2245 2 BHRE L E |RIK(A) 1800 200| = = 431 | 1
113 22555 2 BHIRRIB (LB | BT 1925 0 = 431 | 8
113 2455 2 BHREHLE (*=£3K(C) 1840 200 = 431 |10
113 22455 2 BHRELE PIK(O) 1925 200 = 431 |12
113 22455 2 BHIREB LB |RIK(B) 1670 200 = 431 |12
113 245 2 BHRELE YFNEK 1925 0 = 431 |12




113 2F5 2 BHREAE R1T MV 255(0) 1925 100| s@@Fr | = 43t |13
113 BF5E 2 BHREAE hARKBE— BEERWSEA 1285 1200 T — 431 | 14
113 255 2 BHRELE 1T MV 22E(E) 1670 100 T — 431 | 14
113 245 2 BHRE L E R1T MV 2185(B) 1285 100 Iz | = 431 |15
113 245 2 BHREHE 1T MV 2485 (E) 1670 100 A | = 431 |19
113 255 2 BHRELE *ZEESVIB) 1670 0 | = 431 |23
113 245 2 BHRELE YoR1T MV 255 (A) 1285 100 | = 431 |23
113 22455 2 BHIREBE (% PIIK(D) 1670 200 g | = 431 |27
113 22455 2 BHRRE (L E | PIBK(A) 1800 200 g | = 431 |27
113 255 2 BHREAE *RKBE— BEERWEA 1285 1200 7T | = 5 | 2
113 B85 2 BHRELLE |=IK(B) 1670 200 7T | = 59 | 2
113 BF5 2 BHRELE Yoi 2K 1925 0 i — 53 | 3
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200 Z | = 5 | 4
113 B 5 2 BHREAE *EPFRIEX(B) 1670 200 = | = 59 | 6
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200 2| = 59 | 11
113 2455 2 BHHREBLE *RERE2— BEER KSR 1285 1200 = — 59 | 12
113 2245 2 BHRE (L E |RIK(A) 1800 200 = — 59 | 13
113 BF5E 2 BHREAE | EPFERIE(B) 1670 200 #F| = 59 | 17
113 2F5 2 BHRBAE R1T MV 255(0) 1925 100 #F| = 59 | 17
113 2245 2 BHRELE | PIBK(A) 1800 200 F| = 59 | 17
113 BF5 2 BHREAE %R1T MV 2EE(A) 1285 100 S — 59 | 18




113 BF5E 2 BHREALE |RIKA) 1800 200| FEEEE | = 53 | 18
113 BF5 2 BHREAE |xBIEXH T ERVIGEN) 1800 1200] E@ 8= | — 5¥ | 27
113 B55 2 BHREAE *EPFRIEX(B) 1670 200| sHZ | = 691 | 1
113 22455 2 BHARRE (L E | PIBK(E) 1670 200| 8% | = 63 | 1
113 255 2 BHREHLE »ERERIFX(A) 1800 200 i | = 63 | 3
113 255 2 BHIREB L E |willlks2Z 1800 400| FE | = 631 | 7
113 BBF5 2 BHREALE |=IK(B) 1670 2000 =5 E | = 63 | 8
113 245 2 BHREHE » K OLEMH 1800 2000 =5 E | = 63 | 8
113 2455 2 BHREAE \*EPFERIEX(B) 1670 200 2% | = 63 | 9
113 255 2 BHRELE 23RO 1925 200 F | = 631 | 10
113 BF5 2 BHREMLE |Fillk33Z 1800 400 B2 | = 69 | 13
113 B35 2 BHREAE YoR1T MV 2155(A) 1285 100 B= | = 63t | 14
113 255 2 BHREHE R1T MV 2182(B) 1285 100| BB = | = 63t | 14
113 255 2 BHREHE R1T MV 2152(B) 1285 100| BF | = 63t | 17
113 255 2 BHREHE 1T MV 2182(B) 1285 100| #ENEE | = 63 | 20
113 2245 2 BHRELE YoR1T MV 255 (A) 1285 100 HIE | = 631 | 22
113 2245 2 BHARELE R1T MV 2485 (E) 1670 100| =83E | = 631 | 24
113 2255 2 BHARRIB (L E (EE3K(B) 1800 O M | = 73 | 1
113 255 2 BHRELE HHH 1285 of ENE | = 731 | 2
113 BF5 2 BHREAE | *EPFRIE(B) 1670 200 AWE | = 731 | 3
113 2455 2 BHRELE |RIKA) 1800 200 AWE | = 731 | 3




113 BF5 2 BHRBAE % =£IK(C) 1840 200 = 731 | 4
113 255 2 BHRELE PIBK(F) 1240 200 = 731 | 5
113 B55 2 BHRE(LE Efkn 1285 0 = 731 | 7
113 2455 2 BHREHE » K OEH 1800 200| » = 731 | 9
113 22455 2 2HARR B (L E |PIBK(B) 1925 200| ~ = 731 | 9
113 B2 55 2 BHIRR B (L E | IK(B) 1670 200| » = 731 | 9
113 2255 2 BHIRRB (L E | IK(B) 1670 200 = 731 | 10
113 2245 2 BHRELE P3K(O) 1925 200 = 73t |13
113 22455 2 BHIRREB AL E [PIBK(F) 1240 200 = 731 | 14
113 2255 2 BHIRREALE [PIBK(F) 1240 200 = 731 | 17
113 255 2 BHREAE R1T MV 2#55(0) 1925 100 = 731 | 17
113 255 2 BHREME »BISH T ERNI(EMN) 1800] 1200 = 731 |18
113 255 2 BHRELE Eikm 1285 0 = 731 | 21
113 255 2 BHREAE 1T MV 22E(E) 1670 100 = 731 | 21
113 22558 2 BHARR B (L E |PIBK(B) 1925 200 = 731 | 22
113 22455 2 BHRRRB AL E [PIBK(F) 1240 200 = 73t | 22
113 22455 2 BHRRREB AL E [PIBK(F) 1240 200 = 731 | 24
113 BF5E 2 BHREAE | EPFERIE(B) 1670 200 = 73t | 27
113 2F5 2 BHRBAE R1T MV 255(0) 1925 100 = 73t | 27
113 BF5 2 BHREAE | *EPFRIE(B) 1670 200 ; = 83t | 3
113 2455 2 BHRELE |RIKA) 1800 200 ; = 83t | 3




113 BBF5 2 BHREALE |PIKA) 1800 200| &k = 83 | 7
113 BBF5E 2 BHRELE |EIKA) 1925 0| # = 83 | 7
113 B35 2 BHREAE |RIK(A) 1800 200] # = 89 | 9
113 BF5 2 BHREAE %X 1925 50| 3k = 83t | 11
113 BBF5 2 BHREALE |=IK(B) 1670 200| 3k = 83t | 11
113 BF5 2 BHRELE PPIBK(F) 1240 200| [ = 83t | 14
113 2245 2 BHARELE 1T MV 2485 (E) 1670 100| 2l = 83t | 18
113 2245 2 BHARELE 1T MV 2425 (E) 1670 100| & = 83t | 19
113 BF5E 2 BHRBALE |4 1925 0 ¥ = 83t | 21
113 255 2 BHREAE R17T MV 2#55(0) 1925 100| #& = 89t | 23
113 BF5 2 BHREMLE | *EHI 1925 150| & = 81t | 26
113 2455 2 BHREAE 1T MV 22E(E) 1670 100| & = 81t | 26
113 BE5E 2 BHREAE hARRBE— BEERWSEA 1285 1200] £ Mme | 131 | 8
113 BBF55 2 BHRELLE |=IK(B) 1670 200| £ Me | 131 | 8
113 BF5 2 BHREALE * KOSV 1800 200 & M | 131 | 10
113 2255 2 BHARELE EHR 1285 0| /& e | 13 | 13
113 2F5 2 BHREAE R1T MV 255(0) 1925 100| #t M | 13t | 14
113 22455 2 BHRELE PIK(O) 1925 200| B® M | 13t | 15
113 255 2 BHREBLE *RERE— BEERKSREA 1285 1200 & M | 131 | 16
113 BF5E 2 BHRBAE *PSERIE(A) 1800 200| B® M | 131 | 17
113 BF5 2 BHREAE |(*EPFRIE(B) 1670 200| F M | 131 | 20




113 BF5 2 BHRBAE P3R(Q) 1925 200 M | 131 | 20
113 B55 2 BHREHLE (*ERFRIEX(A) 1800 200 meE | 231 | 1
113 255 2 BHIRRB (LB | B85 TK 1925 0 me | 231 | 1
113 BF5 2 BHREAE | *EHY 1925 150 e | 291 | 7
113 2555 2 BHRRIB (L E | BT 1925 0 e | 291 | 7
113 BF5 2 BHREALE |RIKA) 1800 200 e | 29t | 8
113 BF5 2 BHREAE | *EHYT 1925 150 e | 291 | 11
113 2F5 2 BHREAE P3R(QO) 1925 200 e | 291 | 11
113 2245 2 BHARELE |17 MV 2485 (E) 1670 100 e | 29t | 15
113 B4 5 2 BHREAE 1T MV 22E(E) 1670 100 M | 231 | 16
113 B8F5 2 BHRELE |&EIKA) 1925 0 M | 231 | 18
113 255 2 BHREBHLE (*ERFRIEX(A) 1800 200 M | 23 | 19
113 2255 2 BHREAE 1T MV 242E(E) 1670 100 e | 23 | 22
113 22558 2 BHRR B (L E |PIBK(B) 1925 200 M | 391 | 1
113 BB5F55 2 BHRELLE |EIK(B) 1800 0 e | 391 | 2
113 2F5 2 BHREAE *PSERIE(A) 1800 200 M | 391 | 3
113 22455 2 BHREHLE [»=£3K(C) 1840 200 M | 391 | 3
113 BF5 2 BHREAE | *EPERIE(A) 1800 200 e | 331 | 4
113 22455 2 BHRE L E | E3K(A) 1925 0 e | 331 | 4
113 2245 2 BHRELE | PIBK(A) 1800 200 M | 331 | 6
113 22455 2 BHARRB (LB |PIBK(B) 1925 200 M | 331 | 6




113 BF5 2 BHREAE xR SERIE(B) 1670 200 = M | 331 | 9
113 B4 5 2 BHREAE |RIK(A) 1800 200| = Mme | 331 | 9
113 BBF 55 2 BHRELE |EIKA) 1925 0 = Mme | 331 | 9
113 2455 2 BHREHLE % =£3K(C) 1840 200 Mme | 331 |13
113 22455 2 BHARRE (L E | PIBK(E) 1670 200 e | 33 | 17
113 245 2 BHRBHE R1T MV 255 (0) 1925 100 M | 33 | 17
113 245 2 BHHRELE *ZEESVI(B) 1670 0| BR M | 33 | 20
113 245 2 BHREHE R1T MV 25(0) 1925 100| PR M | 33 | 20
113 22455 2 BHARREB (L E |EE3K(A) 1925 0 e | 391 | 21
113 255 2 BHREAE R17T MV 2#55(0) 1925 100| #& M | 331 | 22
113 B55 2 BHREBHLE (*ERFRIEX(A) 1800 200| B M | 331 | 24
113 255 2 BHREBHLE (*ERFRIEX(A) 1800 200| =f M | 431 | 1
113 22558 2 BHRR B (L E |PIBK(B) 1925 200| =0 M | 431 | 1
113 2245 2 BHRREE 3RO 1925 200| =0 M | 431 | 1
113 B2 5 2 BHIRREB (L E = IK(B) 1670 200| =0 M | 431 | 1
113 2245 2 BHRE L E |RIK(A) 1800 200 M | 431 | 6
113 22455 2 BHARRIB (L E (BE3K(B) 1800 0] # M | 431 |11
113 22455 2 BHRELE | PIBKA) 1800 200| & M | 431 | 12
113 BF5 2 BHREAE xBIEXH TERN 1925|  1280| X MmeE | 431 | 17
113 BF5E 2 BHRBAE *PSERIE(A) 1800 200| = M | 431 | 19
113 2455 2 BHARELE HHH 1285 0 FH M | 431 | 19




113 2F5 2 BHREAE R1T MV 255(0) 1925 100| & M | 431 | 21
113 255 2 BHREALE 3RO 1925 200[ F M | 431 | 23
113 255 2 BHRELE 1T MV 22E(E) 1670 100| # M | 431 | 23
113 B2F 55 2 BHIREALE |PIIK(B) 1925 200| &B e | 4391 | 25
113 2455 2 BHREAE *PSERIEX(B) 1670 200| £ e | 591 | 1
113 2555 2 BHRRIB (LB | BT 1925 0 £ e | 591 | 1
113 BF55 2 BHIREALE |EEIK(B) 1800 0 £ M | 591 | 1
113 255 2 BHREAE *PSERIEX(B) 1670 200| £ M | 531 | 4
113 BF5 2 BHREAE | *EHYT 1925 150 £ MM | 531 | 4
113 B85 2 BHRELLE |=IK(B) 1670 200| £ M | 531 | 4
113 B55 2 BHREBHLE *FSFERIEX(A) 1800 200[ #& me | 53 | 7
113 2255 2 BHIRREB (L E |PIBK(B) 1925 200[ #& me | 531 | 7
113 B85 2 BHRELLE |=IK(B) 1670 200| &k e | 531 | 10
113 2245 2 BHRREE 3RO 1925 200| H e | 531 | 11
113 BF5 2 BHREALE * KOSV 1800 200| = e | 531 | 18
113 2F5 2 BHREAE | *EPFERIE(A) 1800 200| M= M | 531 | 19
113 255 2 BHHRELE *ZEESVI(B) 1670 0| BR M | 531 | 19
113 BF5 2 BHREBAE %R1T MV 2E(A) 1285 100| & e | 531 | 19
113 BF5 2 BHREAE (K OEY 1800 200| B® e | 531 | 19
113 BF5 2 BHREAE xBIEXHTERN 1925  1280| B® M | 53 | 19
113 2F5 2 BHREBAE R1T MV 255(0) 1925 100| & e | 53 | 25




113 BF5 2 BHREAE |(*EPFERIE(B) 1670 200| B® meE | 631 | 3
113 B 5 2 BHREE 71T MV 252(B) 1285 100| & M | 631 | 3
113 255 2 BHREALE [PIBK(F) 1240 200 MeE | 631 | 4
113 BF5 2 BHRELE |R1T MV 2455(B) 1285 100 MeE | 631 | 4
113 255 2 BHREBHLE *FSERIFX(A) 1800 200 5 M | 631 | 14
113 BF5E 2 BHREAE %X 1925 50| B® M | 631 | 16
113 2F5 2 BHREAE R1T MV 255(0) 1925 100| #& M | 631 | 17
113 BBF5 2 BHREALE |=IK(B) 1670 200[ #k M | 631 | 17
113 255 2 BHREBHLE *ERERIFX(A) 1800 200 & M | 631 | 19
113 B85 2 BHRELLE |PBKA) 1800 200 & M | 631 | 19
113 2555 2 BHRELE XA 1925 50| 3k M | 631 | 23
113 8F5 2 BHRELE 1T MV 2455 (F) 1670 100| sk M | 631 | 23
113 255 2 BHREAE *ZEESII(A) 1925 0] # meE | 73 | 3
113 855 2 BHREAE H3K(0) 1925 200| £ M | 731 | 4
113 BF5 2 BHARELLE PHIK(E) 1670 200| £ M | 731 | 4
113 BF5E 2 BHREAE * K OEY 1800 200 = M | 731 | 16
113 BF5E 2 BHREBALE | LI 1925 0 = M | 731 | 16
113 255 2 BHREHLE %S4 1925 50| & M | 73 | 19
113 BF5 2 BHREBAE R1T MV 2485 (E) 1670 100| & M | 73 | 19
113 BF5 2 BHREBAE R1T MV Z85(E) 1670 100| # e | 73 |21
113 BF5 2 BHREBAE R1T MV Z85(E) 1670 100| = e | 79 | 22




113 BF5 2 BHREBAE R1T MV EE5(E) 1670 100 M | 701 | 24
113 255 2 BHRELE (»EHIT 1925 150 e | 75 | 25
113 B55 2 BHRE(LE Efkn 1285 0 e | 75 | 25
113 BBF5 2 BHREALE |EIK(B) 1800 0 heE | 19| 3
113 BBF5 2 BHREALE |EIK(B) 1800 0 heE | 19 |15
113 245 2 BHRBHE R1T MV 255 (0) 1925 100 heE | 131 | 20
113 245 2 BHREBLE *RERE— BEERKSREA 1285 1200 heE | 29 | 4
113 BBF55 2 BHIREALE |EIK(B) 1800 0 heE | 29 | 4
113 BBF55 2 BHIREALE |EIK(B) 1800 0 heE | 291 | 6
113 BE55 2 BHRELE XA 1925 50 heE | 29 |10
113 255 2 BHREAE R1T MV 2#55(0) 1925 100 heE | 231 |14
113 BBF5 2 BHRELLE HIK(E) 1670 200 heE | 291 |18
113 255 2 BHREBHLE *FSFERIEX(A) 1800 200| = heE | 31| 7
113 255 2 BHRELE Eik 1285 0 heE | 31| 7
113 255 2 BHREAE R17T MV 2#55(0) 1925 100 heE | 391 | 14
113 2F5 2 BHREAE *PSERIE(A) 1800 200 heE | 33 |17
113 BF5 2 BHREAE %R1T MV 2EE(A) 1285 100 heE | 33 |17
113 22455 2 BHRELE | PIBKA) 1800 200 hfF | 39 |21
113 22455 2 BHRELE PIK(O) 1925 200 hfF | 39 |21
113 22455 2 BHIRREB LB [PIBK(F) 1240 200 heE | 49 | 4
113 255 2 BHRBAE xZREGEIA) 1925 0 heE | 491 | 6




113 BB 55 2 BHREALE |EIK(B) 1800 0 5% 491 | 6
113 2255 2 BHRE(LE | PIBK(E) 1670 200 = 431 | 17
113 255 2 BHREAE R17T MV #55(0) 1925 100| #t 431 | 19
113 255 2 BHREBHLE *FSERIEX(A) 1800 200 = 431 |23
113 2455 2 BHRELE |RIK(A) 1800 200] £ 59 | 3
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200] £ 501 | 6
113 2245 2 BHREBALE [PIBK(F) 1240 200( PR 5 | 7
113 22555 2 BHARRIB (L E (EE3K(B) 1800 0| Na 591 | 10
113 255 2 BHREBHLE *FSERIFX(A) 1800 200| £ 591 | 16
113 255 2 BHREME »BIEH T ERNI(EN) 1800 1200| % 53 | 16
113 255 2 BHREAE R1T MV 2#55(0) 1925 100| #& 5hf | 18
113 2255 2 BHRREBALE [PIBK(F) 1240 200] &l 53 | 19
113 255 2 BHREAE *ZEESII(A) 1925 0| & 531 | 20
113 255 2 BHREHE *BISH T ERNI(EMN) 1800 1200] = 59 | 21
113 255 2 BHREAE R17T MV 2#55(0) 1925 100| %= 59 | 21
113 22455 2 BHREHLE [R1T MV 2155(B) 1285 100| #% 511 | 24
113 22455 2 BHARRIB (L E (BE3K(B) 1800 0] # 63t | 7
113 22455 2 BHREHLE |RIKA) 1800 200 = 631 | 8
113 2255 2 BHARRB (L E (EE3K(B) 1800 = 631 | 8
113 2255 2 BHIRRIB (LB | HEEEETK 1925 0| BR 631 | 10
113 22455 2 BHARRB (LB |PIBK(B) 1925 200] 631 | 12




113 BF5 2 BHREBAE YOFNEIK 1925 0 7 h&E | 631 | 13
113 B 5 2 BHREE 71T MV 252(B) 1285 100| P& | AiF | 63T | 17
113 255 2 BHREHE %A 1925 50| A& | ATF | 63T | 20
113 255 2 BHREHE *BIEX T ERNI(EMN) 1800, 1200 &% | A5 | 631 | 20
113 22455 2 2HARR B (L E |PIBK(B) 1925 200 HEEE | A | 63T | 22
113 BF5 2 BHRELE |EIKA) 1925 O 25 | A% | 731 | 2
113 BF5 2 BHREAE | *=EIK(C) 1840 200 EREE | A | 791 | 10
113 2245 2 BHRELE P3K(O) 1925 200 PNE | iEE | 71 | 16
113 2F5E 2 BHREAE *SE 1925 50| 2l heE | T |17
113 8F5 2 BHREAE *=£3K(C) 1840 2000 28y | AFF | 73T | 17
113 8F5 2 BHREAE *=£3K(C) 1840 200 5P@NWE | AFF | 73T | 18
113 BF5 2 BHRELE Yoi 2K 1925 Of Mg | A% | 831 | 1
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200| & heE | 84 | 4
113 255 2 BHREAE *ZEESI(A) 1925 O BREE) | A%F | 831 | 5
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200 T | AFF | 831 | 11
113 BF5 2 BHREAE %R1T MV 2EE(A) 1285 100 = heE | 8P | 14
113 22455 2 BHRRREB AL E [PIBK(F) 1240 200 =fiE | A | 831 | 16
113 2245 2 BHARE (L E | PIBK(E) 1670 200 == | AFF | 83F | 21
113 22455 2 BHRREBLE [PIIK(F) 1240 200 == | AFF | 83F | 21
113 2F5 2 BHREBAE R1T MV 255(0) 1925 100| £ he | 891 | 24
113 2245 2 BHRE L E | EIK(A) 1925 O SBEE | ~"F | 131 | 1




113 BB 55 2 BHREALE |EIK(B) 1800 0| 3 NE | 1|1
113 BBF5E 2 BHRELE |EIKA) 1925 0 NE | 1M 2
113 255 2 BHREALE [PIBK(F) 1240 200 NE | LN |3
113 22455 2 BHRREE 3RO 1925 200 NE | 1P| 6
113 22555 2 BHARRE (L E |EE3K(A) 1925 0 N 1PE | 8
113 22455 2 BHARRE (L E | PIBK(E) 1670 200 N 1P| 14
113 2245 2 BHREBALE [PIBK(F) 1240 200 NEE | 1PE | 14
113 2F5E 2 BHREAE *SE 1925 50 NEE | 1PE | 23
113 22455 2 BHARE(LE | PIBK(E) 1670 200 NEE | 1PE | 23
113 B2 5 2 BHRRE(LE | PIBK(E) 1670 200] 3 NE |2 |1
113 B55 2 BHREBHLE *FSFERIEX(A) 1800 200 NE |20 | 4
113 B4 5 2 BHREAE |RIK(A) 1800 200 INE | 2P| 8
113 22555 2 BRI E | EE3R(A) 1925 0 INE | 29 |15
113 22558 2 BHRR B (L E (EE3K(B) 1800 0 INE | 29 |15
113 22555 2 BHIRR (L E | EE3K(A) 1925 0 INE | 29T |17
113 22458 2 2HARRE (L E | PIBK(E) 1670 200 NEE | 2PF | 22
113 2245 2 BHRE (L E |RIK(A) 1800 200 JNEE | 23 | 10
113 22455 2 BHRE L E (% PIIK(D) 1670 200 INE | 3M | 2
113 22455 2 BHRE L E | E3K(A) 1925 0 INE | 3M | 2
113 22455 2 BHRELE (% TIIK(D) 1670 200 > NEE | 3PE | S
113 22455 2 BHARRB (LB |PIBK(B) 1925 200 > NEE | 3PE | S




113 BF5 2 BHRBAE P3R(Q) 1925 200] > NE | 3P| 5
113 2255 2 BHRE(LE | PIBK(E) 1670 200] > NE | 3P| 5
113 BBF 55 2 BHRELE |EIKA) 1925 0 > NE | 331 |10
113 BF5 2 BHRELE |EIKA) 1925 0 NEE | 3P| 14
113 BF5 2 BHRELE PHIK(E) 1670 200 NEE | 33T | 16
113 2455 2 BHREHLE R1T MV 2185(B) 1285 100| % NEE | 33 | 19
113 BF5E 2 BHREBLE JPIK(E) 1670 200 NEE | 3PE | 22
113 255 2 BHREAE *PSERIEX(B) 1670 200 NEE | 3PE | 23
113 245 2 BHREHE R1T MV 25(0) 1925 100 NEE | 3PE | 23
113 255 2 BHREAE R17T MV 2#55(0) 1925 100 INE | 3 | 24
113 B55 2 BHREME *BISH T ERN 1925] 1280 INE | 31 | 24
113 B4 5 2 BHREHE 1T MV 252(B) 1285 100 INE | 3 | 27
113 22558 2 BHRR (L E | PIBR(A) 1800 200 NE | 40| 4
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200 INE | 4P| 5
113 22555 2 BHRRRB AL E [PIBK(F) 1240 200 INE | 4| 8
113 22555 2 BHIRRIB (LB | BT 1925 0| ¢ NEE | 431 | 10
113 2245 2 BHRRE (L E | EE3K(A) 1925 0 NE |49 |11
113 BF5 2 BHREBAE | *xPSFERIE(B) 1670 200 INE | 49T | 12
113 22455 2 BHRELE (% TIIK(D) 1670 200 INE | 49T | 12
113 255 2 BHREHLE %S4 1925 50 NEE | 4PE | 12
113 2255 2 BHIRRIB (LB | HEEEETK 1925 0 NEE | 4PE | 12




113 BF5E 2 BHREBALE | SEEFIK 1925 0 B NE | 4T | 13
113 B55 2 BHREHLE [*=IK(C) 1840 200| ® NE | 431 | 14
113 BBF 55 2 BHRELE |EIKA) 1925 0 & NE | 431 | 14
113 2455 2 BHREHE » K OEH 1800 200| & INEE | 43T | 16
113 245 2 BHREHLE R1T MV 2125(B) 1285 100| & INEE | 43T | 16
113 255 2 BHREBHLE *FSERIFX(A) 1800 200 NEE |43 | 19
113 2245 2 BHREBALE [PIBK(F) 1240 200 NEE | 43 | 19
113 2255 2 BHIRRBALE [PIBK(F) 1240 200| = NEE | 43 | 20
113 255 2 BHREBHLE *FSERIFX(A) 1800 200| = NEE | 43 | 28
113 2255 2 BHIRREB (L E |PIBK(B) 1925 200| = INE | 43T | 28
113 255 2 BHREAE 3RO 1925 200| B INE | 4P| 2
113 255 2 BHRELE |RIK(A) 1800 200| 3 NE | 58| 3
113 255 2 BHRELE |RIK(A) 1800 200] % NE | 58| 5
113 B 5 2 BHREAE *PSFERIEX(B) 1670 200| % NE | S5HE | 7
113 B35 2 BHRELE XA 1925 50| # NE | S5HE | 7
113 22458 2 2HARRE (L E | PIBK(E) 1670 200| 3R NEE | 5PF | 12
113 22455 2 BHARRIB (L E (EE3K(B) 1800 0 & NE | 5T |17
113 BF5 2 BHREAE | *PSFERIE(B) 1670 200| fo NE | S5 | 21
113 22455 2 BHRELE | PIBK(A) 1800 200 1 NEE | 531 | 26
113 255 2 BHRBAE xZREGEIA) 1925 0 NE 6P| 1




113 2F5% 2 BHREMHE

RIK(A)

1800

200| #4

6 3t

113 B55 2 BHRELE

* PR ERIEX(A)

1800

200| 7R

6 3t

113 B55 2 BHRELE

PIZK(B)

1925

200| 7R

6 3t

113 BF5% 2 BHRENHE

1670

200

6

113 BF5% 2 BHRENHE

1925

6 It

113 BF5% 2 BHRENE

1925

6 It

113 BF5 2 BHREAE &

1925

6 It

113 BF5 2 BHREAE P

1240

200

6 It

10

113 BF5 2 BHREALE P

1925

200

513

11

113 255 2 BHRE(LE

1925

6 It

15

113 B4 5 2 BHRELE

PIBK(C)

1925

200

6 It

29

113 B4 5 2 BHRELE

* PR ERIEX(A)

1800

200

7 31

113 255 2 BHRELE

PIZK(B)

1925

200

7 3t

113 255 2 BHRELE

RIK(A)

1800

200

7 3t

113 255 2 BHRELE

EIK(B)

1800

7 3t

113 2F5% 2 BHREME

* EREETS &3k

1670

ot

7 31

13

113 2F5% 2 BHREMHE

PIBK(C)

1925

ot

7 31

13

113 255 2 BHREMHE

EIK(B)

1800

NoF

7 31

13

113 255 2 BHREMHE

1T MV 248%(C)

1925

7 31

29

113 255 2 BHREME

* ERLETS[E] K

1670

8

113 255 2 BHREME

TIBK(A)

1800

8




113 BB 55 2 BHREALE |PIK(B) 1925 200( # NE | 8 | 4
113 2255 2 BHRE(LE | PIBK(E) 1670 200| # NE | 8 | 4
113 B35 2 BHREAE |RIK(A) 1800 200] # INE | 8 | 4
113 BBF5 2 BHREALE |EIK(B) 1800 0] NEE | 8P| 4
113 BBF5 2 BHREALE |EIK(B) 1800 0] # NE | 8P| 9
113 255 2 BHREAE *PSERIEX(B) 1670 200| sk NEE | 8F | 22
113 BF5E 2 BHRELE |RIKA) 1800 200| sk NEE | 8F | 22
113 255 2 BHREAE *PSERIEX(B) 1670 200| &= NEE | 8F | 23
113 BF5E 2 BHRELE |RIKA) 1800 200| &= NEE | 8F | 23
113 B55 2 BHREAE YoR1T MV 2155(A) 1285 100| %= NE | 83T | 27
113 B55 2 BHREBHLE *FSFERIEX(A) 1800 200( NEE | 8ME | 8
113 82555 2 BHRELLE |PIK(B) 1925 200| = ANE | 8H |11
113 8F5 2 BHREAE H3K(0) 1925 200| = ANE | 8H |11
113 BB5F55 2 BHRELLE |EIK(B) 1800 O] NEE | 8P| 8

ESE




